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STEP 1:
date: column size, length, support condition, material 
properties
required: maximum load capacity in 
compression(Pmax)

STEP 2:
Find adjustment factors for column using NDS 
supplement

STEP 3:
calculate slenderness ratio
*check in both directions
*consider MAX for the design
*slenderness ration must be < 50

STEP 4:
calculate Cp

STEP 5:
determine F’c based on Fc and adjustment factors

STEP 6:
Structural stress=allowable stress
fc=F’c

STEP 7:
Find the MAX allowable load
Pmax= F’c*A



Maximum load capacity

▪ Dimensioned lumber column

▪ 1/3 point weak axis bracing

▪ Moisture content= 15%

▪ Ct=Ci=1

▪ Assume pinned end condition(K=1)

▪ Wood species: redwood

▪ Wood grade: NO.2

▪ Strong axis length, L1= 11ft

▪ Weak axis length, L2= 3.666666667 ft

▪ Narrow width, d2= 4 in

▪ Wide width, d2=12 in

▪ Load type: wind load

GIVEN 
INFORMATION OF 

THE PROBLEM











Calculate buckling stiffness factor (CT)

▪ Le< 96”        

▪ Le> 96”       Le=96”

▪ In columns CT=1



Calculate 
slenderness 
ratio in 
both 
directions



E’min=Ct . Cm . CT . Ci . Emin

= 1* 1*1*1* 370000= 370000





▪ Thanks for your attention ☺ 
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